
ZS

1 1081 MLXXXI – 186 CLXXXVI = 895 DCCCXCV 4 IV

181 CLXXXI – 138 CXXXVIII = 43 XLIII 7 VII

728 DCCXXVIII – 365 CCCLXV = 363 CCCLXIII 3 III

852 DCCCLII – 486 CDLXXXVI = 366 CCCLXVI 6 VI

2 468 CDLXVIII + 203 CCIII = 671 DCLXXI 5 V

1478 MCDLXXVIII + 684 DCLXXXIV = 2162 MMCLXII 2 II

1100 MC – 127 CXXVII = 973 CMLXXIII 1 I

748 DCCXLVIII – 353 CCCLIII = 395 CCCXCV 8 VIII

3 1076 MLXXVI – 295 CCXCV = 781 DCCLXXXI 7 VII

937 CMXXXVII + 354 CCCLIV = 1291 MCCXCI 4 IV

812 DCCCXII + 815 DCCCXV = 1627 MDCXXVII 7 VII

934 CMXXXIV – 429 CDXXIX = 505 DV 1 I

4 1431 MCDXXXI – 499 CDXCIX = 932 CMXXXII 5 V

46 XLVI + 560 DLX = 606 DCVI 3 III

634 DCXXXIV + 909 CMIX = 1543 MDXLIII 4 IV

1101 MCI – 453 CDLIII = 648 DCXLVIII 0

ZS

1 1269 MCCLXIX – 387 CCCLXXXVII = 882 DCCCLXXXII 0

1357 MCCCLVII – 542 DXLII = 815 DCCCXV 5 V

1169 MCLXIX – 420 CDXX = 749 DCCXLIX 2 II

947 CMXLVII – 172 CLXXII = 775 DCCLXXV 1 I

2 237 CCXXXVII + 616 DCXVI = 853 DCCCLIII 7 VII

1017 MXVII + 766 DCCLXVI = 1783 MDCCLXXXIII 1 I

884 DCCCLXXXIV – 307 CCCVII = 577 DLXXVII 1 I

613 DCXIII – 105 CV = 508 DVIII 4 IV

3 1534 MDXXXIV – 590 DXC = 944 CMXLIV 8 VIII

255 CCLV + 90 XC = 345 CCCXLV 3 III

145 CXLV + 976 CMLXXVI = 1121 MCXXI 5 V

1307 MCCCVII – 456 CDLVI = 851 DCCCLI 5 V

4 234 CCXXXIV – 126 CXXVI = 108 CVIII 0

415 CDXV + 311 CCCXI = 726 DCCXXVI 6 VI

979 CMLXXIX + 965 CMLXV = 1944 MCMXLIV 0

741 DCCXLI – 407 CDVII = 334 CCCXXXIV 1 I
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